
    Money    

Worksheet-4 

A] Select the correct answer 

1. Add Rs. 125.68, Rs. 614.32 and Rs. 32.23 

 
a) Rs. 775.23               b) Rs. 772.23 

c) Rs. 872.23               d) None of these 

2. Add Rs. 523 and Rs. 423.75 

 
a) Rs. 945.75               b) Rs. 585.75 

c) Rs. 946.75               d) None of these 

3. Add Rs. 29006, Rs. 11726.75 and 8006.25 

 
a) Rs. 42739                b) Rs. 48739 

c) Rs. 46729                d) None of these 

4. Ryan got Rs. 1255.75 from his grandfather, Rs. 2051 from his 

grandmother, Rs. 555.65 from his father, and Rs. 265 from his 
mother. How much money did he get? 

 

a) Rs. 4127.40              b) Rs. 3127.40 
c) Rs. 5127.40              d) None of these 

5. A man had Rs. 2500 with him. He went to the market and bought 

grocery for Rs. 885.72, vegetables for Rs 102.40, sweets for Rs. 

232.67 and spent Rs. 22.00 on transportation. How much money was 
left with him? 

 

a) Rs. 157.21             b) Rs. 1257.21 
c) Rs. 257.21             d) None of these 

6. A man bought a television of Rs. 25234, a cricket bat for Rs. 

2267.50, a table fan for Rs. 3221.21. How much money did he spend 

in total? 
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a) Rs. 30720.41            b) Rs. 30721.71 
c) Rs. 30722.71            d) None of these 

7. Mr. Tom had Rs. 3525.75 in his money purse. He bought a shirt for 

Rs. 1122 and a trouser for Rs. 978.50. How much money was left 

with him? 
 

a) Rs. 1525.25              b) Rs. 1425.25 

c) Rs. 1625.25              d) None of these 

8. A shopkeeper bought 8 watches of same model and 9 mobile 
phones of same model. Cost of one watch is 2572.25 and mobile 

phone cost is Rs. 1272.20. How much money he had to pay the 

distributor? 
 

a) Rs. 32027.80               b) Rs. 31027.50 

c) Rs. 33027.80               d) None of these 

9. If the cost of 9 fans is Rs. 9090, find the cost of 18 fans? 
 

a) Rs. 12180                b) Rs. 22180 

c) Rs. 18180                d) None of these 

10. Bob bought 6 pens costing Rs. 16.06 each and 20 pencils costing 
Rs. 6.75 each. How much will he get back if he pays the shopkeeper 

Rs. 300? 

 
a) Rs. 68.46                b) Rs. 68.64 

c) Rs. 78.64                d) None of these 

B] Do the following sums 

1. Rs. 980.75 × 5 = ____________. 

2. Rs. 2222.25 × 100 = ____________. 

3. Rs. 2313.75 × 6 = ____________. 

4. Rs. 2679.90 ÷ 10 = ____________. 
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5. Rs. 6225.00 ÷ 5 = ____________. 

6. Rs. 1800.54 ÷ 3 = ____________. 

7. Rs. 5808.00 ÷ 8 = ____________. 

8. Rs. 1115.80 ÷ 5 = ____________ 

C]Solve the Following Questions.  

1. By how much is Rs. 215.56 is less than Rs. 765.90. 

2. By how much is Rs. 9000 is less than Rs. 11725.09. 
3. By how much is Rs. 722.85 is greater than Rs. 75. 

4. By how much is Rs. 2238.52 is greater than Rs. 989.89. 
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